ta. Given o set S of real

numbers , define Supd =V

b. Show that For any £ 20,

there is a numbher Xt e S
sveh thel  y-g < X 4V
Pege 37-38.

2 Define the Nested

Teterval Property. p- HE



3. juppoce that (X,.) converyes

‘Lo ¥ and (y.) convergeds 'lcx

Show thel (%nYn) converqes
to %Y.
p- 61, 612.

4, Show that ' (x.) is oan

in creasing Jfquence and

that X, ¢ M for all n, then

theve is a numher L &€ M

Such that lim X, = L

n-) &

p- 14,72



&
S. SUPpo:c Z Xn is @ SRViIES

"<

2 Xa ¢ M for all N2V 2.,

n31

Show there is aw L ¢ M

o
.Sudn *’lo‘l Z X.., converjes

Lo L. . 98

6. Use Newlan's Method
one Lime with am initial
Guess of 2 3o fina the

Gppfbxtma!e vo.lut of v—; lq:.'



7
7. Define the Thomae 'Func'hem

b ; : - hen
y Sett »J -f(x) g ° whe
x ¢ P/q in lowest terms,
and by fexy=0, when x

1S ivrotional . Show that

'F.' 1 < centinvovd at X 4

and £ s

i f

X 14 cvratisnol
discuntinvovs at

£ is crational, p.127, 128



g, 50');:0:! ‘“'ﬁ* f S Gn

mcrea:ina bgund ed ‘untfion

S (“, 5). Show there is an L

such 1hat ]i.-. frey = L.
x= b~

p. 142, NE

q Show thal S =@ Vx s

L;p.fckil'! on the interval

[0,0"} , Where a? 9.

p. 143, IHY

d



,0 Show thati 4 *f '8 Lip;thié!

on any interval, then
‘ 'S Unifcrn'y ¢continvouvs,
p. 143

N Fing oll functions that

2
selisty ,(f?x)-ffwlf | x-¥1
p-lo?

{hat £ .5 diffever—

(2. Suppa-ﬂ
d that fix,i#0

t:aohle al Xo on



3 Let n he a posilive integes

and et hyo. Use L'Hopild's

Rule 1eo show that

i (,’5.:) < M, i.e

X =y 00 bx

. : izientl
'X"' ¢ bX .fx..s.sufftc Y
‘Orga

p. 1872

14, Use (nx and L\Hupikal': Rele

ls shaw that fim (148)°"

o4
n ~) %

o
5“"'7!. -~ @



15. Use the Taylmr pb"lnomiﬁl

of order 3 Jo ¢coleculate

ih“-l-x) 'la vﬁ“ﬁm On &trar o'f-!-
50

P- 190

y intervel

16, Show thatl on eVET

["d,d]’ $he Taylgr Secies af

CoS % Cbnvtrﬁgs %a ¢cos$ K

p. 190



xtsin (e} x#o

1.
Y/ Define ﬁ‘:,: {

O i f xzo‘

Is 9 continvoss el 62 Is

9 differentiakle at o? Js

5 € R[Oa '3- ls 9§ uniformly

conlinuoos on [°..1J?

P‘ ‘304 lﬁz, r A

1§, Suppost 'fié d:#crcnha’-le

ot all X € (a,b), 14 £t 90

in (0,h), show fis increosing,

p- 174



19 Whee ~F NI bounded fw\c‘“on

on [O,B} and when P s O

Pafii‘lioa of [a,b] 1hatl is
"-0g§ed, what is S(£:P)?

P-200
20. What is the definidion of

dhe stclement 'PG Rfe,bl ?

p- 201 .



2. Stoie the In{ejrabili{y
Cfi‘[erion 'for a funetion do
be Darcboux - in{eﬂrable.

K] if 0ex <
22. let qx) = .
| : & % < .
p- 2249 ' Ll 4

Use Lthe criterion chove with

G- far'liiiun P "\aviuj jued Y

points 1o Show 3 it Darboux

integrahle. p. 229 , p. 228



23, Use the ahove criterion

{o show {'\64 any continvovs

‘Funciion -f 6n fﬂ,b] is Davbov

5n*esrab'e p- 229,228

24 Tn solve the di-Nercn-h“

eqvaho- Y'(x; - -)c(x,yhuf
with Y(x,) 3 Ve , we defined a
sequence of curves Yafw). '

How are cCvrves Ynix)

definea ? ( elass notes J

online



